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1 A usdlAl g Ml (R A wia) 10

(1) [Mua valBdl duondl.

(2) PERTHL »181 HURd AHdl s34l 4L & 7
(3) CPM i+ PERT -+l Guylell %eldl.
(4)  AHAAl Mgl ama.

(5)  iddud A of3dudAl w1 yHndl.

®) A sl wrell A%y, Rad :

| 40 | 45 | 50 | 55
y: [210 | 253 [ 307 | 381
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(7) A 24 E QL sy .
(8) % f(x)=x> € dl f(b, o) -l a2kl
9)  datdla yalquin-dl areusil oeudl.

(10) = yxzx(x—l) Sl dl Ay, QL4

yad (6 2 ol 5 Hifl AN d A usALAL FAUS BN,

2 (20) CPM %A PERT a2l dslad ael. 4
(o) A5 WiFseui Al aarl & : 10
s siatatgl | FMawael | g deilad
AHY ANY AHY
1-2 1 5 1.5
2-3 1 3 2
2-4 1 5 3
3-5 3 5 4
4-5 2 4 3
4-6 3 7 5
5-7 4 6 5
6-7 6 8 7
7-8 2 6 4
7-9 5 8 6
8-10 1 3 2
9-10 3 7 5

PERT <2a5 il €121, 52152l ua ldl A e85 s1d 312 dd
[0l Aadl.
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3 (3) AL uEl uuend : 4
(1) otruadl sid
(2)  Hsd Halsdl
(o) s Migserl sl Aol sl A Horor & ¢ 10
ETDNE 1-2|2-3(2-4|3-5[1-6|6-7|7-8|5-8 |4-5
URD MY | 14|28 10( 221222 (36| 8 |14
.. 5141212113321
(1) neas usli €.
(2) $25dl vy Hadl.
(3) MIFs2 83 Yl 90 [Rari-l 423 Yyl iy d-ll Aeiladl 2kl
4 () dqifly yaldquiddl yud Y yuedl. 4
() 2iddad M2 Yo RHIDA dd Yot avil 244 Ald 0. 6
(5) Braad 3/8 < Muy-l Gualoidl log 7 L Bad 206, 4
5  (3) viddad A alkdaqd w2 Gudl Rdedl dd auedl. 6
(o) aueadl Aaell ad 2002 L <8l A, 4
Qi (X) 1991 | 1992 | 1994 | 1999
sl (Y) 21 35 56 84
(5) DA R uell Roudd 2idA-l qeedl wld $A 3 4

F)=x*+1 Quy £(5) Al

F)=2, f(L3)=13, f(13,6)=10, f(1.3,6,9)=1
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6 ¥ d 6 -l %Al AN

1)
2)
3

4

AHIA Hd U2 diddare @it Yoo Aadl.

qe1gly yalquia-dl daleivil aeudl.

A1 sesHl vedl Bud Aadl :

ay :

2005

2006

2007

2008

2009

2010

Rl :

12

15

25

32

AL ¢ Herl A s, 5258 ud A g wAlBdl.

Instructions :

1  Answer the following questions :

1)
2)
3
4
®)

(6)

Explain Independent Float.

(1)
2)

3)

(4)
(5)

ENGLISH VERSION

12

As per the instruction no. 1 of page no. 1.

Figures to the right indicate full marks of the

question.

Statistical tables and Graph papers would be

given on request.

Simple calculator can be used.

Usual notations are used.

(any five)

Which are three time estimates in PERT?

State the uses of CPM and PERT.

Explain: Pessimistic time.

Explain the meaning of Interpolation and Extrapolation.

From the following information find A3u0 :

X

40

45

50

55

y:

210

253

307

381
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(7) Derive the relation between A and E.

(8) If f(x)=x> then find value of f(b, ¢).

(9) State the assumptions of business forecasting.

(10) If yx:x(x—l), then find Ay,.

Attempt any two questions from Que. No 2 to 5.

2 (a) Explain difference between CPM and PERT,

(b) A project has the following characteristics.
Activity | Optimistic | Pessimistic [Most likely
time time time
1-2 1 5 1.5
2-3 1 3 2
2-4 1 5 3
3-5 3 5 4
4-5 2 4 3
4-6 3 7 5
5-7 4 6 5
6-7 6 8 7
7-8 2 6 4
7-9 5 8 6
8-10 1 3 2
9-10 3 7 5

Prepare PERT network diagram. Find critical path and

variance for each event.
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(b)

4 (a)
(b)
(c)
5 (a)
(b)

Explain following terms : 4

(1) Dummy activity

(2) Free Float

Acts related information of a project is as follows : 10

Act 1-2(2-3|12-4|3-5|1-6|6-7|7-8|5-8 |4-5

Expected time| 14 |28 | 10 (22|12 |22 | 36| 8 |14

S.D. 5 4 2 2 1 3 3 2 1

(1) Prepare network diagram.

(2) Find critical path

(3) Find the probability of completion the project
within 83 to 90 days.

Explain the main postulates of business forecasting 4

State and prove Newton’s divided difference formula 6

for interpolation.

Find value of log 7 by using Simpson’s 3/8 formula. 4

Explain the method of Binomial expansion for 6

Interpolation and Extrapolation.

Find profit of year 2002 by Langrage method. 4
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Year (X)| 1991 1992 1994 | 1999
Profit (Y) 21 35 56 84
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(¢c) From the following information, with the help of

Newton’s divided difference formula prove that

f(x)=x>+1. Also find £(5).

f=2, f(3)=13, f(L3,6)=10, f(13,6,9)=1

6 Answer any two :

12

(1) Derive Lagrange’s formula for interpolation of unequal

interval.

(2) State the limitations of Business forecasting,

(3) Find missing values from the following table :

Year

2005

2006

2007

2008

2009

2010

Population

12

15

?

25

?

32

(4) Explain : Event and activity, Critical path and Total

Float.
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